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Instructions: (1) All questions in Section — I carry equal marks.
(2) Attempt any TWO questions in Section — L.
(3) Question 5 in Section — II is COMPULSORY .

Section -1 40

. (A) Describe various types of environment and explain in brief various techniques for
environmental analysis.
B) What is environmental forecasting ? Explain Qualitative and Quantitative
techniques of environmental forecasting.

2.  (A) “Consumerism is a protest of consumers against unfair business practices and
business injustices”. Explain the above statement with reference to consumerism,

consumer rights & proteetion.

(B) Describe the term’ ‘Social Audit’. Write in brief the factors affecting social
orientation, also explain arguments in favour of social involvement with special

reference to social responsibility of business.

3.  (A) Explain the concept of Quality Circles with its-process. What conditions are
requiréd for suceess of the quality circles ?

(B) Define the term ‘Sick Companies’. Explain the process of Winding up of
companiés according to Companies Act 2013.

(A) Explain the concept of International Business and explain various methods of
éntering in international business.

(B) Explain in brief any two world economic unions.
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Section - 11

5.  Answer Any five from the following : 10
(1) Which of the following Environmental Analysis technique was proposed by Burt
Nanus ?
(A) PESTEL Analysis (B) QUEST Analysis
(C) TOWS Matrix (D) SWOT Analysis
(2) ‘fhi;h of ;he following is the new category of company introduced in Companies
ct 2013

(A) Public Private Partnership
(B) Two Person Company
(C) - Limited Liability. Partnership
(D) One Person Company
(3) Which of the following countries is not a member country of SAARC ?

(A) Bhutan -(B) Maldives
(C) Nepal (D) Thailand
(4) The European Economic Community came info existence by which agreement ?
(A) Treaty of Rome (B) Amsterdam Treaty
(C) Merger Treaty (D). Treaty of Nice
(5) Match the following :

i.  Minimal functions (a) Environmental Protection
ii. Intermediate functions (b) Assets Redistribution

iii. Activist functions (c) Defense

(A) i(b), ii(a), iii(c) (B) i(c), ii(a), iii(b)

(C) i(b),ii(c), iti(a) (D) i(a), ii(b), iii(c)

(6) CEPT stands for
(A) Common Effective Preferential Tariffs
(B) Common Export Preferential Tariffs
(C) Common Energy Preferential Tariffs
(D) - Common Effect Preferential Tariffs
(7). Which of the following is the mode of doing International Business ?
(A) Trade (B) Contractual basis
(C) Investment (D) All of the Above
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